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ofaTy g Wl
il TR w1 arrents ey
(A) 15 (B)§
() e (D) 6
8.

W g A 5 e 02 @ 3 af
e @) 10% wa R S afte ﬁmﬁmﬂi

Feraen ® 10% &) Rar wm, @ Mg ers :

an:
(A) 0.401 ) (B) 0.20 )
(C) 0.165 f (D) 0.242 i)

9. Wi Mada A B e
(A) waE daen @ (B) sxrwr ek
(C) wwA AeEg & (D) [L"i PR

10. B9 @ Rdlas ol & Rigia @ swdm e
WA @ frg s s s &
(A) warer &1 &7
(B) wwrer @) aemded
(C) an sy swfida w9 A
(D) Gewred &) snae

19, war @ madain gaE P 9wk
arae o & | uw wE o §
(A) wEeR w1 P (B) ead & Fam
(C) Hee @ fram (D) A7 @t

12, e wfrgad el @ gacty e
e I @ aead wd &

@) T oI
(C) T® W e wo @ ged) 8
T aw sufafdd el B

D
( !ll 1‘(;}'&-3 i widdn, NEG T afz sfen @ e
13. l‘I;:'dlc‘eul 4oV, 30V 31z 60V &, el Hu e
a1 gt
ﬂT"eTSQ qiec (13) 100 e
EA; 70 A< (D) 50 Tree
G

A

425 cm, Whatwill

7. Least distance of distinct vision | g of

be the magnifying pownrofni.mplnn'!: i
focal length 5 em, if final |rrmgn i
miﬂinﬂundiswmnfdislinclvmm!

(A) 1/5 A5

(D)6
(©) 116 - i
8. In Young'sexperiment, the fringe width !.: oig :;:nu
the wavelength of light is incnr:as:d ydb o
separation between the slils i§ Incrense y

then fringe width will be:
(A) 0.40] mm (B) 0.20mm
(C) 0.165mm M) 0.242 mm

9. All fringes of diffraction nreof:
(A) Sameintensity (B) Unequal width
~€) Samewidth (D) Full darkness
10, Huygen's theary of secondary waves can be used to
fined:
(A) Velocityoflight
_{B) Thewavelength of light
(C) Wave front geometrically
(D) Magnifyingpowerof microscope
1. Refractive index of malerial is equal to tangent o
polarizing angle. Itis called:
(A) Brewster's law
1€) Malus's law

(B) Lambert's law

(D) Bragg's law
12. Ma?mcllc susceplibility ofa diamagnetic substanc
varies with absolute lemperature as;

(A) Directly proportional to T

(B) Inversely Proportional o T

(©) Exponentially decreages with T
<) Remaing unchanged with T

13. In 'LCR circuil. the voltage acrogs the terminals
Tesistunee, and cupacitange 5
WV.MMWLM@WMM%WWMVM
(A) 130 vql, B) 1 e

70 voly o
ﬁ (D) 50 vy
(TRNB.202¢)



14, P 3 9 s Regrgaea
¥ e B ¥? L
(C) wrdT=h fapwof (D) T oY

15, AR BT g P e 3 W qA W@ E @
sifem S—dreh avrded Read g S

(A) W (B) p—1
(C) a—av (D) gt
| o 6 eV Sl T e e wee w fea #
A e Seaft BegAagTAr @ AT i
St 4 eV el &) dvee o FRE foa &
(A) 4 (B) 6
(C) & (D) 10
. wEarE (Isotones) ¥ WA wE A B &
(A) et (B) gerERiA
(€) =g (D) wien &
 Prefef ead gu # o o alw p—FT
st oa ¥
X330 —~Yig®
(A) 6 3T 8 (B)8 31X 6
(c) 838 (D)6 3% 6

1o R (fewm) T e @& &
(A) vl 3 S A gRafeld ®¥

@) &4 @ ut ¥ oRafda &

(c) =i (A) 3R (B)
(D) T & PIg T

20, wp—mmmawlﬁmmm%

gfe:

(c)gaﬁﬁmﬁdﬂwﬁ'amm
(D)gamﬁﬁwﬁmﬁtﬁ’rmﬁﬁmﬁm

21, gAHA ezl 1l 64 91 2 AT @ SR
&1 SEUT a1 &7
(A) 1/64 (B) 1/4
(C) /16 D) 1/2

™

A

14, Which of the following EM wave has highey,

frequency?
(A) Visiblelight _AB Infrared waves
(C) UV mys (D) Gamma rays
15. Ifgiven particle are moving with same velocity, they
maximum de-Broglic wavelengthwill be for:
(B) p-particle

(A) Proton
§C) o-particle (D) Neutron
16. The maximum kinetic encrgy of photoelectrons
emitted from asurface when protons of energy6eV
fall onit is 4 V. The stopping potential in voltis:
(A) 4 —AB) 6
(c) 8 (D) 10
17. Isotones have the same number of’:
LAy Prolon (B) Electron
(C) Neutron (D) All of the above
18. What is the respective numberofa and p-particles
emitted ina following radioactive decay?

(A) 6and 8 _B) gand 6
(C) Band8 (D)6 and 6

19. Function of rectifier is:
& Toconvert A. C.into D.C.
(B) Toconvert D.C.into A.C.
(C) Both(a) and (b)
(D) Noneofthese
20. A P-type semiconductor can be
adding:
~¢%) Arseniclo pure silicon
(B) Galliumto puresilicon
(C) Antimony topure germanium
(D) Phosphorus to pure germanium
21. What is the ratio of radii of the 2 nucleiw
number | and 647
(A) 1/64
(C) 1116

obtained b

qhs

(B) 1/4
(D) 12
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2 aR Rt SR § el o) e <

;:fm?w M FN o e 7 wRadT
(A) 2—7u (B) 8=
(C) 4~ (D) 16—1on

23 fOREE &1 e Praw R o & W &
(A) (B) smw
() wm (D) e

24, Prefefen 4 9 @ w1 gaota dm @ o &
(A) e A sl To A e geel weoa &
(B) g i IR 9 R B IS THar R
(C) @& faw &= 377 woan @
(D) = TEHYT &3 T WAl 2
25. g Frem g3 F Q& e &
(A) g &=
(B) & 73 weE @ WMoy @ W
(C) gata &
(D) S9rs § A B T8 |
26. famfefaa % @ R gdtaxer @ foar o
Had! 87
(A) ¥y T (8) srgaet ¥t
(C) sy wct (D) T
5 ¥ 3l 50 ¥ Brbed
e E@T;q;*w%:mmmilm

Rpw ofa @1 SuanT sifedfded @ fag 7
(a) @ T
(©) 5 ¥ (D)s0 FA

28, [ HUIRA B & 2 L 2
3§ faga R 107 vis @ A A a5 @
e =14 &
(A) 2A
(©) 6A

(B)3A
(D)9A

A

22. What will be the change in the self inductance

of a coil if the number of turns in a solenoid is
doubled?

(A) 2-times (B) 8-times
#) 4-times AP 16-times
23. KirchhofPs first law deals with the conservation of
(A) Energy (8 Charge
(C) Momentum (D) Mass

24, Which ofthe following isthe property of amagnetic field?
(A) Itean change direction of a moving charged particle
(B) Itcanchangespeed ofa moving charged particle
AC) Iteancreate electric field
(D) Itcancreate gravitational field
25. InGauss law formula, Q stands for:
A) The electric field
/(BJ’ Total charge within the given surface
(C) Magnetic field
(D) Noneofthe above

26. Which of the following cannot be

polarised?
(A) Radiowaves (B) Transverse waves
(C) Sound waves 0] X-rays

27. Two lenses of focal length 5 cm and 50 cm are to be

used for making a telescope. Which lens will you
use for the objective?

(C) Scm ~ABF50 em
28. A capacilor is having a Capacity of 2 Picofarads
(pf). Thg clf:ctric potential acrogs the Capacit 'y
changing with a value Of 10" v/ The g l s
shengig disp acemeny
g 2A (B)3A
(C) 6A D)ga
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28, SRS el F $R AR st oy e

Wﬁxﬁﬂ?yﬁlﬁrﬂﬁlﬁmﬁﬂﬁﬂﬂmm

Ll
(A) x>y B)x>>y
(6 x<y D)x=y

0. AT b ¥, gwer weer o

(A) Faw wat

(B) 9w s=am

(C) oMM, S ek wfy

(D) Faw Ry

- U% TRGPR BT 99T 250 diee TE A @
100W. 25 AIeE oY B S & forg fwar oy

¥ T BAE N GRT 05 A B grawrRk )
GETT @] MUY Y

(A) 50% (B) 80%
(C) 90% D) 70%

Frefafes ¥ 4 o9 of siofs wrd @
HRYT TE &7

(A) siifcom wEay o o1
(B) &R &1 w5
(C) Teme @ smmed ol R TeNE B
49 @1 3fw
(D) i & R F ggEn
3. Wl iR fwE e ol e NG @

fory arferpem &l &7
(a) $He (B 50
(©. 33U (D) 3¢Fe
. Frefafes § o w1 faew sy e @
JeTERT HEf 87

(A) - AR vA-gen RemT
(B) ¥5im IR g fera

(C) e iR weitels &1
(D) AMzd v FEREAS Rew=

A
29. The density of electron and holes i an intringj,
semiconductor is x and y respectively. Which of the

following options are true?

(A) x>y AB)x>>y

(C) x<y D)x=y '
30. Innuclear reactions, there is conservation of: ]

{AyEnergyonly

(B) Mass only 1
ﬂ Mass, encrgy and momentum

(D) Momenturn only

31. ATransformer isused to light 100W, 25 volt lamp
from 250 volt A.C. mains. The current in the main
cableis 0,5A. Calculate the efficiency of the trans- |
former.

_A) 50% (B)80%
(C) 950% (D) 70%

32. Which of the following is not due to total internal
reflection?

(A) Working of optical fibre
(B) Brilliance ofdiamond

(C) Difference between apparent and real depth
of pond

(D) Mirageon hot summer days
33. Theaveragebinding energy per nucleonis maximum

for the nucleus:
(A) 3He (8) 150
(€) %330 AD) §eFe

34. Which of the the following solutions is not an
example of ideal solution? I

(A) n-hexane and n-heptane solution
(B) Benzene and toluene solution
&) Mixture of chloroform and acetone
(D) Bromoethane and chioroethane solution
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66. uﬁaogx)m(lﬂ)wwmw—am%a\r _

T P AT T
~-E
&) 2.31;:)2312 (B) 3.303aR
ke O
67. MWWWHEWMWW@T
I &
(A) IS B) ~Rrery
(C) ==l D) feem
?@ﬂmmﬁmmmm
(4) it (B) = e
€ e semear )y
W%ﬁmﬁaﬁqﬁmw%
(A) g (B) IRy »_
(C) g (D) TP RreTo

7. TN B A PIAREH S W IR N Wi
BT @ AR R A A &

(A) 1gGydeEa (B) IgM TRt
(©) 1gA it (D) IgE GéeTérT
1. ﬁfﬁ%ﬂﬁﬁmwmmﬁmaﬁ,
faeryar & 872
(A) SuaENTEHTt B 3rgee (B) sraRad
(C) T ¥ Sueley (D) HH | B G
. frfeRie ok ShMifefie s R &
qHa § HE &
(A) ot vy
) et wg
(C) afq sy
(D) wReTi™

- ——eee,

R
' A

t
ight lin€, wha
ves
66. Ifplot of (logk) versus (17/17 g
is the value of the slope* .
—Ea
—
*) Ea ® 3.303K
2.303R
- Ea
© 2303 /(D)Z 303R
E, e at:

: ;thin the funt
67. The body of the ovule is fused within

Mropyle ®) Nucellus
(@) Chalaza (D) Hilum t
68 :Pollination inwater hyacinth and water lily is brough
.aboutby:
(A) Water (B) Bats
(D) Birds

/QQ) Insect or wind

69. The process of release of spermatozoa from sertoli
cells into cavity of the seminiferous tubules is called:

(A) Spermiogenesis /63) Spermiation
(C) Spermatogenesis D) Spemnatocytogenesis
70. After birth, colostrum is released from mg
mma
glands which s rich in: . -
%) IgGantibodies (B) Igm antibodjeg
: (CX IgA antibodies (D) Ige antibodjeg
71. Which ofthe following i not .
ideal contraceptives @ characterig, ofan
(A) User friendly
. . (B) IITeVermbl
(C) Easily available )
Least Side effect

72. Phenotypic and 8enotypic
A) Completedominan
—By Incomplete dominance
©) Overdominance
(D) Epistasis

rati
1015 Similgy Arincage o
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11

v
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A

rTewx RigW A fawar aRAEEY 73. Klinefelter's syndrome is characterised by 2

karyotype of
) XYY ®) X0 A XYY ®) X0
) XXX (D) XXY (©) XXX AD)XXY
Ste AR IRTAL (@aREy) 74 Polycistronic messanger RNA (mRNA) usually
MR W E & occurs in:
A) IFRT (B) SR () Bacteria (B) Prokaryotes
C) q@RaE (D)2 (a) 3 (B) (C) Enkaryotes (©)Both (V&)
T S aRES A ot AT Saen  75. Which was the last human chromosome to be
sy A TONGA P ST o1? oompletelysequenoedinhmnan genome project?
A) OREA 1 (B) oA 11 (A) Chromosome 1 (B) Chromosome 18
°) oA 21 (D) To_F Y © Chromosome?2!  —P) Chromosome Y
© Il e 3 1@ J afd® e &R 76. Some amino acids are coded by more than one
\Req faar oIl 2, $9AT AR TS T codon, hence the genetic code is:
) sl (B) Srorve ~ (A) Overlapping (B) Degenersic
) srEmar g3 (D)= (C) Wobbled (D) Unambiguous
A ® ggelr siad wd A 77. The first life form on earth was a:
) AT (B) SHRCRIZ® (&) Cyanobacterium (B) Chemoheterotroph
") SAET® (D) PITEIET (C) Autotroph (D) Photoautotroph
Fe STl A EHad Y T TR ot - 78 Whichspeciesisbclievedtobetheﬁxsttousestone
7 SqanT far ar? tools?
A) B efdfera (B) B el ¢ Homo habilis (B) Homo erectus
C) Piteded (D)2 S (C) Neanderthels - (D) Homossapiens
R FHE B G A Pt ie 79 Which of the fouowingisaffectedbytheinfecﬁ‘mf
@ el e 7 \Wuchereria bacroft?
() e aRe (B) T o g Lyt vessels B Rﬁpﬂa'.“!\f;yf“‘“‘.
() et (D)< TRET © Newoussyem @ Blood e iicE
TeE B ATS © GEAE B S 87 g0. AIDS i< widely diagnosed OY:
(A) frere e g1 (B) R @1 (a) Widaltest JESE
(©) PCR (D) Chromstog™y
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